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Test 3.1
1. What is urban tourism? 

2. Name 3 types of activities urban tourism could include

3. Describe the core-periphery model using the blank diagram below









4. Why is it so common to see nearly everything in the core?

5. Site and situation describe the:

6. Infrastructure includes:

7. From our discussion about Toronto and attracting tourists with tax dollars, how are the tourism industry and the wellbeing of a city interconnected?

8. From Departures [Japan], which one of these was not a transportation infrastructure depicted in the show: Airports, Rail, Bus, Taxi (automotive), Helicopter.

9. Name 3 types of activities associated with urban travel that occurred in Tokyo during Departures


10. Name 3 factors that make Tokyo a world class city

CGG3O | Travel and Tourism: A Geographic Perspective
UNIT 3 | Culture and Tourism 
Test 3.1
1. According to your textbook, urban tourism is:
Experiencing the excitement of a big city and all the services it has to offer (pg. 10) 
2. Name 3 types of activities urban tourism could include
a. Services (restaurants, spas, hotels, etc.)
b. Entertainment (clubs, shows, sports, etc.)
c. Shopping (retail that is only available in larger cities) 
d. Architecture (unique buildings or neighbourhoods)
e. Culture (museums, galleries, ethnic districts, etc.)
3. Describe the core-periphery model using the blank diagram below
Periphery
(have nots)
Most goods and
resources sent to
the core

Core
(haves)
opportunity







4. Why is it so common to see nearly everything in the core?
The direction of flow of goods, resources and people is toward the core
5. Site and situation describe the:
Landforms, climate, economic factors of a city
6. Infrastructure includes:
Transportation, electricity, water, phone services, communications, etc.
7. From our discussion about Toronto and attracting tourists with tax dollars, how are the tourism industry and the wellbeing of a city interconnected?
Because one requires the other to be successful (an unhealthy city attracts fewer tourists and a poor tourism industry economically hurts a city –which hurts its financial resources to do good for it’s people)
8. From Departures [Japan], which one of these was not a transportation infrastructure depicted in the show: Airports, Rail, Bus, Taxi (automotive), Helicopter.
Helicopter
9. Name 3 types of activities associated with urban travel that occurred in Tokyo during Departures
Services, entertainment, culture, architecture
10. Name 3 factors that make Tokyo a world class city
Population, Size and Situation, History, Major Attractions, Unique Image, Infrastructure, Tourist Data
